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Question Number : 81 Question Id : 4509386481 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The percentage error i the measurement of mass and velocity are 3% and 4% respectively, The

percentage error 1n the measurement of kinetic energy is
¥, ~ L e v ob v, Y Y vy —p M
2,8 509 BE) (395078 SOBS 3% B0 00N S 4% BaFeso

NS, T (13338 oSS Bareo

Options :
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14%
3. %
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4. %

Question Number : 82 Question Id : 4509386482 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A car travelling at 80 kmph can be stopped at a distance of 60 m by applying brakes. If the same

car travels at 160 kmph and the same braking force 1s applied. the stopping distance 1s

80 kmph 06 ()OS0t 2.8 56 Ben 32 60m ErdodS sdGI0.
33 5 160 kmph SK0S |DOIPeIods, ©F 2008 BHed Sy & e
A

Options :

240 m
1.4

170 m
2. %

360 m
3. %



480 m
4, %

Question Number : 83 Question Id : 4509386483 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 2 kg ball thrown vertically upward and another 3 kg ball projected with certain angle (6 # 90)

both will have same time of flight. then the ratio of their maximum heights 1s

2,8 2 kg 208 AQNYTD, 0T 3 kg 208 50 §0 (8  90) S (S

e
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Options :
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3. %
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Question Number : 84 Question Id : 4509386484 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a sport event a disc 15 thrown such that 1t reaches its maximum range of 80 m. the distance
travelled in first 3 s is (g = 10ms™2)

S SFES 28 AR & 80m 183 T3 GOBELD VT, WoNd &b &) 3
24908 T3 Erdo (g=10ms™)

Options :

80 m
1. ®

60 m
2. ¥

72 m

74 m

Question Number : 85 Question Id : 4509386485 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A block of mass 18.5 kg kept on a smooth horizontal surface 1s pulled by a rope of 3 m length by

a horizontal force of 40 N applied to the other end of the rope. If the linear density of the rope 1s

0.5 kem ™ ‘and initially the block is at rest. the time in which the block moves a distance of 9 m is
28 )R § 832 QAP0 007 GO 185 kg |(3:5T73 (1) 2.8 B 3m
ey o @B 8, @b DTS T35 40N 582 desrodd 200 (HEFA0D
erTr. @ DL0D PO(CE 0.5 kem™ HOOM Sened A AT VBS' G0,
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Options :
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Question Number : 86 Question Id : 4509386486 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A Dblock of mass 1.5 kg kept on a rough horizontal surface 1s given a horizontal velocity of

10 ms™.If the block comes to rest after travelling a distance of 12.5 m. the coefficient of kinetic

friction between the surface and the block is (Acceleration due to gravity = 10 ms™?)

2.8 % § 32 Nairoedd 5307 Gotd 1.5 kg (35073 i) 2,8 BF050 10 ms™
§ 323 NoIr0edy DAY IS, A 125m Grdo [DATFEoNS Shared

Do P DO, Serdd Hioy Aas ddiie fed odn Heaso
(thSded § e 56€a0 = 10 ms™2)

Options :
0.2
1. %
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2. ¢



0.8
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Question Number : 87 Question Id : 4509386487 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A force of (6% — 4x +3) N acts on a body of mass 0.75 ke and displaces it from x = 2m to

x = 5m. The work done by the force is

0.75 kg |5a95 T2 HE) S5 od) 20 (632 — 4x + 3) N2OO Q) DR I Ne)0 x = 2m 0

x = 5m 8 F2030 TOAOTD. 20 90 28R
Options :
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229 §

307 ]

Question Number : 88 Question Id : 4509386488 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A ball falls freely from rest on to a hard horizontal floor and repeatedly bounces. If the velocity of
the ball just before the first bounce is 7 ms™* and the coefficient of restitution is 0.75. the total
distance travelled by the ball before it comes to rest is (acceleration due fo gravity=10 ms™2)

2,8 208 7% 26 DO VI GG 2.8 § 2 daiT0edd )07 DG B3
) 97 58 B TTD. 208 F0dE 8 Berd) @3 §£0 00 TR o
7ms™ SO0 (DT (D650 0.75 WOV, & 206 JTW) Vel § THHRIOS,
98 |DOTEI0 D 0B g0 (HX § 65060 =10ms?)

Options:

10.75 m
1. ®

9.75 m
2. ®

8.75 m
3. ¢

11.75m
4. %

Question Number : 89 Question Id : 4509386489 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A solid cylinder rolls down an inclined plane without shipping. If the translational kinetic energy of

the cylinder is 140 J. the total kinetic energy of the cylinder is

28 a0 Q%0 2.8 7N $00 2 0T TN A. 0 TG Jr0esde
1245 140 T 90 A0 GR0E) 0o Hededs

Options :
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2. %

21017
3.¥

28017

Question Number : 90 Question Id : 4509386490 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two blocks of masses m and 2m are connected by a massless string which passes over a fixed

frictionless pulley. If the system of blocks 1s released from rest, the speed of the centre of mass of

the system of two blocks after a time of 5.4 5 1

(Acceleration due to gravity = 10 ms™)

5507 He0 m HOAN 2m Ko Todh BIOD Db T VY §a) DT
FHD), 28 BOTS TE0S ST, B 539D VTN VB 0B OO,
54500 ST OO e TRE) (3073 TO[C0 e
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Options:

6 ms™!

1.4
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2. %



4 ms”

12 ms!

Question Number : 91 Question Id : 4509386491 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The displacement of a particle executing simple harmonic motion is y = Asin(2t + ¢) m, where t
is time in second and ¢ is phase angle. At time t = 0. the displacement and velocity of the particle
are 2 m and 4 ms ™. The phase angle. ¢ =
DY 2P0 8 HORN0 DO 2.8 860 TS(040 y = Asin(2t + ¢) m, BECH t
500 DZ0HS HBKM ¢ G0 00 t=05¢ a0 T|0d0 HBK Fo

ST 2 m OO 4 ms L. 7§60, ¢ =
Options :
60°

1. %

30°

45°
3.¢

90°
4. %



Question Number : 92 Question Id : 4509386492 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The displacement of a damped oscillator is x(t) = exp (—0.2t)cos (3.2t + ) where t is time in
second. The time required for the amplitude of the oscillator to become — times its nitial
oL

amplitude is

2,8 @58 ¢ Go¥o BE) TZ070 x(t) = exp (~0.2t)cos (32t + 0), 8,8 t 50

by o v, T T 0 W V. 0o 1 L
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Options:
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Question Number : 93 Question Id : 4509386493 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Maximum height reached by a rocket fired with a speed equal to 50% of the escape speed from the

surface of the earth is (R - Radius of the earth)

2790 G080 HOG HEPNS SAS 50% %) ASTFIRS SAS 2.8 05 o
208, 80 TO 1182 A R - Ararsrdo)

Options :
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16R
9
2. %
R
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R
8
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Question Number : 94 Question Id : 4509386494 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If the work done in stretching a wire by 1 mm is 2 J. the work necessary for stretching another wire

of same material but with double radius of cross section and half the length by 1 mm 1s

2,8 81 1mm FHAOCHOS 260 9 2] o8 3805 DT FeRrdsn
B0 S0 csed $OR, T HG0S TaHS HFE S 1 mm FERMEHS
SaH02S 53

Options :
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Question Number : 95 Question Id : 4509386495 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IfS,. S, and S; are the tensions at liquid-air. solid-air and solid-liquid interfaces respectively. and

6 1s the angle of contact at the solid-liquid mterface. then
S;. S, DB S5 SO [(3630-T), NNDTPYO-TE) DM NINTE0-|(3e30
o030 BP0 I GOT BreheN, OO DNTYO-IS0 Gl B0 3¢

963820 6 NS

Options :

Sycosf +S,sinf = S,

Sicos@ +S3 =5,
2.¥



S,cos0 +53;=5;

%

S;cos8 +5; =5,

Question Number : 96 Question Id : 4509386496 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If ambient temperature 1s 300 K. the rate of cooling at 600 K 1s H. In the same surroundings. the

rate of cooling at 900 K 1s

HBTE SIS 300 K &), 600K ¢ 3856 ey H. oF H8Tes
900 K ¢ 95856 B

Options :

16 1

3
1.+

2 H
2. %

2 H
3. %

= H
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Question Number : 97 Question Id : 4509386497 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An ideal heat engine operates in Carnot cycle between 127 °C and 27 °C. It absorbs 5 x 10* cal of

heat at higher temperature. Amount of heat converted to work is

2,8 €3¢95) Gl ODHO(0 127°C SHBAM 27°C & D5 50 ) zﬁ[_&éo{ﬁé M TATOTARETA
908 o119 236 5 x 10 cal G5 (Tr)00. WONS AT a7 trale)BairEI0

Options :

4.8 %X 10* cal

1. %

2.4 X 10* cal
2. ®

1.25 X 10* cal
3. v

6 % 10% cal
4, %

Question Number : 98 Question Id : 4509386498 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
i i 0 ; ; 4 -
One mole of a gas having y = ol mixed with one mole of a gas having y = 7 The value of y
for the mixture is (y is the ratio of the specific heats of the gas)

i g 00 2.8 Frd PO Y = % NN 2.8 IrO TS SO, woNS
€3 2[00 GRVEY ¥ DENS (y — a0 DTS AN



Options :

5
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1. %
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2. %
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3.v

5
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Question Number : 99 Question Id : 4509386499 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A Carnot heat engine has an efficiency of 10 %. If the same engine 1s worked backward to obtain

a refrigerator. then the coefficient of performance of the refrigerator 15

28 56 Ga0H00 10% E S 00 $08. & 6) aHoB0d, FBOLE
OHOSOT FeH88 TR, ISEGe aholBo Thngy (Sairdee Heago

Options:
3
1. %
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Question Number : 100 Question Id : 4509386500 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The rms velocity of a gas molecule of mass ‘m’" at a given temperature is proportional to
e o = T w— i b o
00 &il|iied O m (363507 110 AN T0EY ms Bifel S08 FES TS

: 2
DS ITNFH0S Y0ENOE?

Options :
m*
1. #
m
2. %
y'lﬁ
3, #®
1/\ym
4.

Question Number : 101 Question Id : 4509386501 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The speed of a wave on a string is 150 ms ™ when the tension is 120 N. The percentage increase

in the tension in order to raise the wave speed by 20% s

S5 120N o S0BS S:S80H S& 150 ms™ 5 SEOK B 20%

20T00E), S0|BS KO SzBd DOVSOV Tehesd
Options :
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Question Number : 102 Question Id : 4509386502 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The minimum deviation produced by a hollow prism filled with a certain liquid 1s found to be 30°,

The light ray 1s also found to be refracted at an angle of 30°. Then the refractive mdex of the hquid

15

500 BT 2,8 |3X0S A0S, T Eda) NI §ea0 30°. 5708 30° S90S

885030 TOAS, &3 (950 TE) S(8%aded Hreado

Options:
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Question Number : 103 Question Id : 4509386503 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In Young's double slit experiment, the intensity at a pomt where the path difference is P (A being

the wavelength of the light used) is I. If I denotes the maximum intensity. I / 1 isequal fo
0

ahofi 2ot 0O airtos, T A¢Bgo o Dochy S SIS 1
(1- GBS S0 TR0E) SB0K B50). Ip SR 185 BN AT, ! Ji. =

Options :
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Question Number : 104 Question Id : 4509386504 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two particles of equal mass ‘m’ and equal charge ‘q’ are separated by a distance of 16cm. They do

not experience any force. The value of 1% 15 (if "G’ 1s the umversal gravitational constant

and ‘g’ 1s the acceleration due to gravity).

D350 W, D0 FF0 ‘g EORS Toch Seren 28T 16em o

G 00, @9 Jerod 2678 SFBE. JsHNS: DT0gN ¢ B0
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m

Options:
NE 1IN E
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G
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J 4megg
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Question Number : 105 Question Id : 4509386505 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the following diagram, the work done in moving a point charge from poimt P to point A, B and
C are Wy, Wy and W, respectively. Then

(A. B. C are points on semicircle and point charge q is at the centre of semicircle)

2,8 0 SSTAY IS WPAEY P Hodel D0 A, B B0 € Do
SE% BRHTHEOES BT I SEWT W, Wy SO0 W, @00E (4,B,C e &5
90 2 Hoch)en BN ©F 29B0 s Do SO Do B350 q &) d)

b

q
0

Options :

Wy=Wz= W;#0

1.¢

WA = WE‘ > M’rc

WA =2 H,-rE =< ch
4, %



Question Number : 106 Question Id : 4509386506 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Four condensers each of capacitance 8 pF are joined as shown in the figure. The equivalent

capacitance between the points 4 & B will be

2,535,638 iF SRR KO arent TP HR0S s DGO Hoerdo
DODDATTON. 4 OO B DOCDY® 0I5 ) TaPNTIN) 0EH?

Options :

32 uF
1.4

Question Number : 107 Question Id : 4509386507 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The resistance between points A and C in the given network 1s

80 B D60 SR 505 & A HBOM € oY s ABO

R
M
| -
A LA — A A
R B R D
A
R

Options :

R
4

ra | =

2R
3. %

4.+

Question Number : 108 Question Id : 4509386508 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A steady current 15 flowing in a metallic conductor of non-uniform cross section. The physical

quantity which remains constant 1s

©ID08 odT) FToo Ho a8 SW) o & dodd S
RPN VB, YOO &0% 783 07

Options :

Electricity current density

N5 |y aIr0(Cied

1. %
Drift velocity
1&e) Jifo
2. % TR
Electricity current density and drift velocity
NS (DT FPO(C3ed HOAW (B Sif0
3. % -
Electric current
4 DN ESB (DT O

Question Number : 109 Question Id : 4509386509 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wire shaped n a regular hexagon of side 2 cm carries a current of 4 A. The magnetic field at the

centre of hexagon is.
2,8 8108 E0¢)8 8560 8 006 ) 2020 sy 2 em, FOHES 4A

DS (3aT0A. BONS 1¢)2 300 G SO0 § ($07

Options :

4V3x 1075 T
1. ®

8V3x10™°T
2.

V3x 1075 T

6vV3x10>T
4, %

Question Number : 110 Question Id : 4509386510 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A tightly wound coil of 200 turns and of radius 20 cm carrying current 5 A. Magnetic field at the

centre of the cotl 1s

200 HEY, 20 em TGOS DD DHAAS 2§ SHNHS A kS
:5er00), @0 s 3¢50 HO eahar08 § 0.

Options :

LT
1. ¢

14210 27T
2. ®

628 x 1074 T

628x 10°3T
4. %

Question Number : 111 Question Id : 4509386511 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The domain in ferromagnetic material is in the form of a cube of side 2 um. Number of atoms in

that domain is 9 X 10'° and each atom has a dipole movement of 9 x 1072* Am?. The

R e e Sy
2,8 D TD0HRT 08 HE B S 2 pm 20B0 FEYIO DTEIRS &35)0. &
B S 9x 100 HESTEDHN 283863 9x 10724 Am? B3G5y 46)
GO, 1800 ¢3S B SOHT,0BEBE0 (FDPH)

Options :

1.4



10 x 10* Am™?

8 x 10* Am™1

2. %

12 x 10* Am™?
3. %

9x 10* Am™1!
4 %

Question Number : 112 Question Id : 4509386512 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Magnetic field at a distance of 1 from z axis is B = B,rtk present in the region. By is constant and

‘t' 15 time. The magnitude of induced electric field at a distance of r from z-axis is.

2.8 [0S 2950 0f 1 SrdosS 006 30 B = Byrtk &) 0. a8d

By’ D050 SHOKD ‘¢ 500, NS 2 @50 H0f 1 ErSOS (WOS E03S (b

OO,

Options :
BGI‘E
3
1. %
2w B,r
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2™
3. %
B,r*
3
4.+

Question Number : 113 Question Id : 4509386513 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A series LCR circuit is shown in the figure, Where the inductance of 10 H. capacitance 40 uF and

resistance 60 Q are connected to a vartable frequency 240 V source. The current at resonating

frequency 1s

2,8 LCR (363 500H0 808 tradod. HAS 10 H(DF%0, 40 iF §030 HOaN

60 Q NGOV 2.8 240 V 3G el 2FRS E020SR). N8 @S

)50 G NI |NaTarO

R

Wy

Options :
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Question Number : 114 Question Id : 4509386514 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An electromagnetic wave travel in a medium with a speed of 2 X 10®ms™. The relative

permeability of the medium is 1. Then the relative permittivity is

2,8 QS80S ACDSBONRT06 SE0KO 2 X 108 ms™ SES (HAPEID0E. & Airds
08, 1034 306 1. ©90n® & aFE s RN

Options:

1.75

b2

-3
(]
Lh

Question Number : 115 Question Id : 4509386515 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The longest wavelength of light that can mitiate photo electric effect in the metal of work function
9eVis

R (NDAN0 9 eV ) S3F0S 508 DS HOR) BFH0DEAE @IIEH
fBa) b0t B0

Options :

1.37 x 107 "m
1.¢

1.5x 10 "m
3.7%X 10 "m

4%107"m

Question Number : 116 Question Id : 4509386516 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A hydrogen atom falls from n™ higher energy orbit to first energy orbit (n = 1). The energy

released is equal fo 12.75 ev. The n® orbit is

TIEER H0Sres o 48 Frow 885 oD e 48 Frow 885 (=1)
HOFonA. B (N EDS 12.75 ev © 45 De5e) 260 nth £ 5

Options:

n—4
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n—23

2. ®
n—==~o6
3. %
=5
4, %

Question Number : 117 Question Id : 4509386517 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The decrease in each day in the Uranium mass of the material m a Uranium reactor operating

ata power of 12 MW is (Energy released in one g, |J 2*° fission is about 200 MeV)

12 MW © 3508 9 ToiuthS) e B0 8050 & B8 adAaHo
S 71595079 DI (55U 2 DB Tod #§ Dchcde g ey
200MeV)

Options:

12.64 X 10~ 2 kg

1. %

11.50x 1072 g
2. %

12.64 kg
3. %

12.64 g

4.+



Question Number : 118 Question Id : 4509386518 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When a signal is applied to the input of a transistor it was found that output signal is phase- shifted

by 180°, The transistor configuration is

28 H03E) 1IN0 AFAWS @00 TS, & oSbo (ErRING

Dy TOSH) H03B0 STBS0S  180° 38 TodsS, B 1ErRIN5
HEIVAW

Options :

CB — configuration

CB — a375c00dD)

CE — configuration
CE — a)t°§edod)
2. %
CC — configuration
CC — DO
Both CB and CC — configuration
CB SB35 CC D5
4, %

Question Number : 119 Question Id : 4509386519 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

: ; +H2V
The voltage V, in the network shown 1s

HOOS BrD $00006S ST v,

3

0.7V Si 73\‘\ 2.2V (green)

Options:

Vo =113V
1.¢

V, =98V
2. %

Vo, =120V
3. %

Vo =87V
4. ®

Question Number : 120 Question Id : 4509386520 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A message signal of 3 kHz 1s used to modulate a carrier signal frequency 1 MHz, using amplitude

modulation. The upper side band frequency and band width respectively are

3kHz © ede)ed500©) 0T N0Z0TR), 1 MHz FPSse) 35010 aPsTE H0T0SenS
S0 S0 SrcHTE TADAOA. D T83 HE3 redecyedsain sBAM 96
) DV HDNT

Options:

1.003 MHz and 6KHz
1.¢

0.997 MHz and 6KHz

2. %
. 1.003 MHz and 3KHz
1.003 MHz and 2ZMHz
4, %
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Question Number : 121 Question Id : 4509386521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In the ground state of hydrogen atom. electron absorbs 1.5 times energy than the mmnimum energy
(2.18 %1078 J) to escape from the atom. The wavelength of the emitted electron (in m) is (m, =
9x 1073 kg)
ARG G H N0STEN JOIFR, HOSTENs) Hod 20H0% IenIcherd
539810 §0) 48 (2.18 x108 1) §0 1.5 BEY 457 11150008, IS JOIFTD

Fﬁdodgggo (m %’)fﬁs) (m, =9 %1073 k)

Options :
h x 10%*
1@ vV 1.962
h
dlk 1)
+/1.962
h
X 107
v1.962
3. %
h
x 1022
v 1.962
4, %

Question Number : 122 Question Id : 4509386522 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



